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Найти:    1;   2;    3
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Найти:    BOD
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Найти:    COD
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   2 +   3 +   4 = 220



Найти:    СОЕ
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Найти:    1
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Найти:    1



Найти:    1
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Найти:    АС

В

С

Р = 86 см

АВ = 31 см
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Р = 18 см

АС = 2,4 см

Найти:    АВ



Найти:    АВ

Р = 45 см



Найти:    1
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Найти:    СВD
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Найти:    1
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Найти:    PBDC
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B

CD

РАВС = 48 см

АС = 18 см

BD = 12 см



Найти:    PАВС
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CD

РАВD = 60 см

BD = 24 см



Найти:    BD
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CD

РАВС = 38 см

РCBD = 24 см



Докажите равенство 

треугольников:
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Докажите равенство 

треугольников:
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Докажите равенство 

треугольников:

А T
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Докажите равенство 

треугольников:
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Докажите равенство 

треугольников:
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Докажите равенство 

треугольников:
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АS = FB


